ED/REVE =

S CaWNE =

o BFEEES 90kcal/ke ()

O E%I*lb$—ﬁ§ﬂﬁlﬂﬂ Rl (80kcal/kg (Ff#EL) +10kcal/ke (B#0~10T))
EIBEEIBEOERLIRIVF— S EE 500kg/m’

O&AEIRWVE—TIVIZTFUVY
EEROEFEDINALMTVUYRICEKD.
BIRIF—IATLh%ERHE

VAT LT70—
# " |
LI% 1% T3] %
| BIILF—R sl B
|l o - ‘ . o i sBEE D D
aDFREEREDESEME (SameHErd5HEm) e smwes|
I | ki o4 7.5‘? ﬁﬁ

EOFIRAAE

SR
>

Ll 3V

W ERARK [FBIRSK] fEIRS B [EEAKSE] BRAR N B (BE - K=)
[E&iEE] - e
== /TEL
(R [H=] |Fou- = S e ——
2] ? ? Z =8 < | 1 e,
G g
- = = e
&= ? ? L le— NN
K : T
Lsxe® =
1R (SORMEKERR) 2XA (TRRERR) (ArEE] [HEW=E] [ZR-5EXE]

*) tEBRIBEZEEESIACETIRER Uiz, BIUKR : JISTHHE —SHAOBRRERE -




